
Question Answer

1

a) 1
2 is equivalent to 36

b) 1
2 is equivalent to 48

c) 1
2 is equivalent to 5

10
The numerator is always half the denominator.

2

a) 1
4 = 2

8
3
4 = 6

8
4
8 = 2

4
b) 2

10 = 1
5

8
10 = 4

5
3
5 = 6

10

c) 6
9 = 2

3
3
9 = 1

3
3
3 = 9

9

3

a) 6
12 = 3

6
b) 1

6 = 2
12

c) 5
6 = 10

12
d) 12

12 = 6
6

e) 8
12 = 4

6
f) 2

6 = 4
12

4 Tiny has not drawn the number lines the same length.

5

1
4 = 2

8 = 3
12

2
4 = 4

8 = 6
12

3
4 = 6

8 = 9
12

4
4 = 8

8 = 12
12

6

a) 4
5 = 8

10 and 9
10 is greater than 8

10
b)
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